20238 =0ila eI WISt

M HZRAZHI(HSH)

SoT oo

cHels J1=2 &l

H & 0l & AHS B Ml A

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
M=t 22,668,006 21,757,756 910,250
= 14,000
= 1,650,000
J| 824,168
T 275,436
Al 19,904,402
HY2AGHI(MS) 23,224 21,617 1,607
[23&8l 23,224 21,617 1,607
J|1E23| 23,224 21,617 1,607
201 B2 AY| 7,704 7,280 424
01 A=R2teld| 7,704 7,280 424
OJle MREEI 30,000& *34H 1,020
OgRF8 S A7 20,000 *57H 100
OAx2H 2 24| 70,0002 %1291 840
OL7E =HH| 60,0002 = 12J1 & 720
OvI27=s= 10,0002 x5+ 1201 2 600
Oo=gtl(Es) 8,000 *5534) 4,424
202 044 7,120 7,137 A7
01 204 7,120 7,137 A7
O=2Uubl(BE) 20,0002 356X 7,120
203 PRF=&Y| 7,200 6,000 1,200
M 2GR FALI 7,200 6,000 1,200
ORN2IYRFAI 7,200
-4 300,000&* 1200 & 3,600
—=0t= 300,000& 1200 & 3,600
204 P AY| 1,200 1,200
01 MM ZHR+HAL| 1,200 1,200
Otz 100,000 = 1201 & 1,200
Msds N 4,927,029 4,177,075 749,954
| 539,168
& 90,436
Al 4,297,425
s K& 70,340 19,540 50,800
M= K& 70,340 19,540 50,800
201 B2 AY| 9,940 9,140 800
01 AR2teld| 9,940 9,140 800
OMS#8AL =X L =82 HE(SHY, &
2t 8) 3,000,000& * 14 3,000
OMSHA SHEY U= WM HE S
600,000 * 14 600
OMs&EEY =&l
8,000 x8L x 124 & +5H 3,840




A MY
33 Msds XN
el M= X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=Uzl. AUz =&
2,500,000 *14] 2,500
202 04dl 9,400 9,400
01 2L AL 9,400 9,400
OMsdg g% =4 8,200,000 *14] 8,200
ONSTE Y2 ZX(ZLA)
20,0002 x5 1 * 12042 1,200
203 HR=H] 1,000 1,000
03 A=A R =AH] 1,000 1,000
O&=l=zl FX 2 =HAE &2 =&
1,000,000 %14 1,000
207 ARl 50,000 50,000
01 S| 50,000 50,000
OZSAMSTSLTHE SR
50,000,000& » 14! 50,000
EH=E =4 3,110,960 2,729,359 381,601
& 30,000
Al 3,080,960
HEMS 238 N2 424,700 372,620 52,080
307 elztol & 424,700 362,620 72,080
02 2B YA E X 307,500 239,420 68,080
OZ Al MFQl & A X2
5,000,000& *12] 5,000
Od=Us 7X&=sHl X
5,000,000 *14 5,000
ONe2zl dMetd=rd=Uzl ot X
270,000,000& %12 270,000
ORMI51el 8=4AEME 28 d+H K&
5,000,000& *12] 5,000
OM104el =M=l 28 d+=E X2
7,500,000& 12 7,500
OF2UT L ASHT &t =
7,500,000 12} 7,500
OFE=MAE ot MHE=S X (45=)
1,500,000& %12 1,500
OM=gs XN& 6,000,000 *14] 6,000
03 M EE2SHIEx 117,200 113,200 4,000
OZ A== 282gH| 117,200
—HE2HE AAHI(AR2ZE, ARLE)
42,000,000 *14] 42,000
MBS QA (NPT, ADDE)
42,000,000 %14 42,000
—H=3 2 XY an
13,200,000 * 14 13,200
—zZzea, A0E, 2 =
20,000,000& x 14 20,000




SN HSDH
MM RS K

el dENE |4 EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Stesf A 367,800 367,800
301 LEtE N = 25,000 25,000
14 IIEt2d3 25,000 25,000
OSDHSAS MER K
25,0002 %1,0002] 25,000
307 @12to| & 39,000 39,000
02 QB HANEEX 39,000 39,000
OStUMEEd 2tdsl 200,000 %102 2,000
Ostu2s] M=z d8+8 dit= 5,000
—=SUSs 500,000& *108 5,000
Ol4 22 ¥S oYl 2 A S
200,000 %102 2,000
OdYMaE &It d=H =&l A
24,000,000 *14! 24,000
Ostu2s:? 48 (d=) 803 6,000
—ZS8 d+ 100,0002* 14 1,400
—&, S8 d= 200,00084 %23 4,600
308 AtXIEMSOIE 303,800 303,800
08 WEI|20USEx 303,800 303,800
Ox=81 27 XNE 179,000,000 179,000
OMSXEX 20 X2 124,800,000 124,800
HNEBIR =4 1,387,460 1,306,740 80,720
301 EtE N = 1,387,460 1,306,740 80,720
R2istd - 2SFSEYE 1,387,460 1,306,740 80,720
OoJlZz=s 691,200
—&=,3X 4,400,000 ~4E* 1204 & 211,200
— 2,500,000 *16E* 1204 & 480,000
od2=+g 46,080,000 46,080
OJEx¢ 4,800
—HH2 XA 40,0002 x5 120 & 2,400
—JIEPIE 20,0002 x10H =122 2,400
OE&FItl 69,120,000 69,120
O=cl=4d| 84,000
— s 22| 170,000 «20& 1201 2 40,800
—gAZAHI 180,000 x20E * 12043 43,200
O4i2s 282 117,420
—=0l=2EEa 3,980,000& *120HE 47,760
—JdIE2E= 3,795,000 * 1290 & 45,540
—J1EEBEE 1,300,0002 1290 & 15,600
— 2= 710,000& * 12 8,520
O&l &= 10,000,000 *3& 30,000
oZllggy +¢ 55,200
—As 300,000 x6Z* 12042 21,600




2A:

=t

s TS X
gelr JENS |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—B, C= 200,0003* 14 = 1204 2 33,600
Osd+g 57,600
—&=, X 200,000 x4H 120 3 9,600
— 250,000 x16E * 1204 & 48,000
O=IIHE & oz 26,520
—2OIHE 42
100,000 6 =120 2 7,200
—He =< 230,000 x 7+ 12042 19,320
ORed= 2elH(H=0a SR
15,000, 000214} 15,000
ORaH+ FUHl(A7 &)
30,000,000& »14] 30,000
O=2g Uzl ol 500,000 *82| 4,000
O&EUa FItodH 8,000,000& 62 48,000
(@FSPNEI=L] 19,040,000 * 14| 19,040
OLul=H| 19,000
—Edolds 200,000 * 19 *23] 7,600
—=LS 100,000 x19E*23] 3,800
—Arg 200,000 x19E <22 7,600
OFHITLLI(S4=)
300,000 7 H+35 6,300
OZbI7Yu(2E2)
330,000 7 H+65 13,860
O=d, 228 =4 294l
200,000 x3S* 12042 7,200
Ost=4AF4 AU Y|
3,000,000 14| 3,000
Ost=d =g AW
3,000,000 %14 3,000
Osgds 28 gz
2,100& %1002/ 6E * 1204 16,120
Oxtg XI& 916,660 x2CH* 1290 2 22,000
X8 =il & X 88,000 88,000 0
201 Ler=23| 3,000 3,000
01 At2teltl 3,000 3,000
OdXl2d8 =Xl S22 M
6,000 500 3,000
307 21201 & 85,000 85,000
02 QB HANEER 85,000 85,000
OdXl=&g K& 30,000,000 *14! 30,000
OA&ESe|d Nzl 55,000,000& * 14| 55,000
=AM, &d=e2 3l 562,000 521,19 40,801
= 30,000
Al 532,000
307 el2to| & 562,000 521,199 40,801




A MY
33 MsdsE XNH
el dENE |4 EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
[ 30,000
Al 532,000
02 LB HAHE X 385,000 349,199 35,801
ON252l #2J| d=1Sstu 5203
150,000,000& 12 150,000
= 10,000
Al 140,000
OM413 Het2dealdl d=gUHSE2
g d==2Ali3 120,000,000 12 120,000
& 5,000
Al 115,000
OMN2l HetAE=SHEIIEH A=
=28 i=tial 90,000,000 12 90,000
= 5,000
Al 85,000
ORMI212] Z2ZAIEE &= HILIAWS
25,000,000 13l 25,000
04 QIZFHAMALE 22 177,000 172,000 5,000
0O2023. &y 22 OfetEN=]
40,000,000 *13] 40,000
ORMI62 A 8= ==
37,000,000& x12] 37,000
OHMlieal =4 B= & 2=l
40,000,000 *13] 40,000
& 5,000
Al 35,000
ONI132l Z2o R4 d= +=ZU2
60,000,000& *13] 60,000
= 5,000
Al 55,000
AN el 281,000 73,000 208,000
307 @I2t01 & 281,000 73,000 208,000
02 LB MAHEE 281,000 73,000 208,000
ORNI203| Z2AIED| S U3
8,000,000& 12 8,000
ORMI163l Z2AIEI| H=HE
8,000,000& *12] 8,000
OMI143] Z2AIEI| 10U
8,000,000& 12 8,000
OHMI123] Z2AIEI| 2EUS
8,000,000& *12] 8,000
ONI192l ZAIFI| EHA =S
8,000,000& *12] 8,000
OZ=8 U3 N (MHBS)
13,000,000 x12] 13,000
OATE XS 5,000,000& 12 5,000




2A:

=t

s TS X
el dENE |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONI192 ot HF0l =202
15,000,000& * 13l 15,000
OSHE ASU3 HAKE 208,000
—ZYS SO0HS(Q17 42014)
25,000,000 *2IH 2 50,000
~ZYE. 35S(A1200/4)
18,000,000 +27H 2~ 36,000
—S2H 2 THA(el1erdoe)
15,250,000 +8IH 2 122,000
dEHE |54 1,333,604 1,118,254 215,350
Jl 439,488
= 53,592
Al 840,524
MEHE 23H X2 (HEAY) 186,000 156,000 30,000
=S 15,000
Al 171,000
201 fer=3| 12,000 12,000
01 AtR2tc|Hl 3,000 3,000
QMBS 22T 22 Y 22
3,000,000& *14] 3,000
03 A= EHI 9,000 9,000 0
OdgAlz e ==z
9,000,000& %12 9,000
307 gl2to| & 174,000 144,000 30,000
=S 15,000
Al 159,000
02 QB HANSEER 174,000 144,000 30,000
OdEH=SIHLH A=
60,000,000 *14! 60,000
OSSN AESS 25943 JHAl
3,500,000 *14] 3,500
Ode=gds NE
9,000,000& %14 9,000
On=0l 57w 29
5,000,000 *14 5,000
OdgN=s g5 N& 3,000,000& 3,000
OO0l Hsuad 9,000,000 14| 9,000
OFaxdE Mewna 5,500,000& *14] 5,500
O8N =2% 4,000,000 *14] 4,000
O¥=M=Us 9,000,000& *14] 9,000
OdgNsue =2 20,000,000 *14] 20,000
OdeH=gd 24 NE
14,000,000 * 14 14,000
OAILIOT HEHEHSXEX -
2,000,000& *14] 2,000




2A:
X XH -
o e

=aak

=t
H=sds XN
HEH= =4

s 54 (S5 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHSANAEZ(FENT)HEDL 2
30,000,000& »14] 30,000
= 15,000
Al 15,000
ME S BHXIANY 231,302 202,392 28,910
Il 92,064
= 2,880
Al 136,358
307 el2to| & 231,302 202,392 28,910
) 92,064
== 2,880
Al 136,358
02 2B YA HE X 231,302 202,392 28,910
OMEHMSK X BHXIAS (5Y)
192,750,000 *14] 192,750
) 76,720
S 2,400
Al 113,630
OAE MEHSTTT HIXIAR(12)
38,552,000 * 14 38,552
) 15,344
= 480
Al 22,728
MG X=X BIXIANS 231,302 202,392 28,910
Jl 92,064
== 2,880
Al 136,358
307 elzto| & 231,302 202,392 28,910
Jl 92,064
[ 2,880
Al 136,358
02 2B A HE L 231,302 202,392 28,910
ONZAUELXIZ XL BIXIAI (6Z)
231,302,000 x 14 231,302
Jl 92,064
S 2,880
Al 136,358
AEX0I22 (HIRH) A 364,800 220,150 144,650
Jl 255,360
== 32,832
Al 76,608
301 22N = 364,800 220,150 144,650
Jl 255,360
=S 32,832




A MY
o YRS XY
Chol: MBS A (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 76,608
01 Al EE A S (2 RDEEMA) 364,800 220,150 144,650
OAZ=AHO0IEA XISAHY
95,0002 *320E 1200 2 364,800
Jl 255,360
= 32,832
Al 76,608
AXXZY 2 47,400 47,400
307 @I2to| & 47,400 47,400
02 QB AANEER 47,400 47,400
OS32E=2Y 2S(BIHAEXAAY)
32,400,000 * 14| 32,400
OT SSAZXZY 2E (AT
Abet) 15,000,000 * 14 15,000
MEHSF R X 143,500 170,620 A27,120
307 gl2to| & 143,500 170,620 A27,120
02 QIZtEHAEE X 143,500 170,620 A27,120
ORNIg2l ZAIEH &= et2==203
15,000,000 x12] 15,000
ORMI82l ZZAIEI] HOIESUS
5,000,000& 12} 5,000
ONI178] Z2AIZHH =S HS
5,000,000& *12] 5,000
ORM202| ZZAIZI] BHELIEUS
8,000,000& 12 8,000
ON228| Z2AIEDI| SRS
8,000,000& 1] 8,000
OHM218] Z2AIEI| SRS
8,000,000& *12] 8,000
ORMI9z Z2AIEH &7
8,000,000& 12 8,000
ON142| ZZAIEH MEZHAU2
5,000,000& 12} 5,000
ONI12al Z2ZAl2 2l 2/&I| ti=ti2l
8,000,000& *12 8,000
OMNZl 24t JI2t =XME A SatAL
11,000,000 * 12l 11,000
OHNIgal o2dl AZHZx 0=0te
15,000,000 *13] 15,000
OHgsE2 7THAIZ HOIESU3
6,000,000& *12] 6,000
ORHI6al Metis oFrssel Hseld
7,000,000 *14 7,000
ON262l 0ielol & HMI133l F4d ZAUZ
6,000,000 12l 6,000
ON228] Z2AINOIES S3IHHHHS
2,500,000& %12 2,500




2A:

=t

o YRS XY
ool dEHs =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORMIg2l ZZAl deteE=22s30! AEl
g 3,000,000& %12 3,000
O=E0| =703 2,000,000& %12 2,000
OZef LA 8= HAAL XY
15,000,000 *12] 15,000
ONI3al Z2AIEAE 303 s2U=
3,000,000 %12 3,000
OMN=2l ZZAIEH La=20Hsl
3,000,000& %12 3,000
HEHNE ot K& 129,300 119,300 10,000
307 @12t0| & 129,300 119,300 10,000
02 LB AANHEE 129,300 119,300 10,000
O MEHSHET 2D}
3,000,000& *12l 3,000
OHMi263| dS (2 ots) HSHFE0IS
=M X2 5,000,000& 12 5,000
ORMI3B2| Metd-dEMSUHES &It
70,000,000& *13] 70,000
ORNIBal Metdx o2 MEMFU Ot
15,000,000 * 12l 15,000
Odgdietead A2 HENFuFHA
A& 10,000,000& * 13l 10,000
Oolisgul &=NSZ detdd2lial &
It 8,800,000& 12 8,800
ONIM9al Metd XA =202 &0t
3,500,000& %12 3,500
ON3R2al Metd=XIAR| HOIESUE &It
2,000,0002!%18] 2,000
OHBHIE 0RI0] MEHSHEH &0t
2,000,000& %12 2,000
OM23l 28,014, 2,22 MEHS DS
AR EOt 10,000,000& *13] 10,000
o= |4 412,125 309,922 102,203
Jl 99,680
[ 6,844
Al 305,601
Jofe=sgs N 78,000 70,000 8,000
307 glztol & 78,000 70,000 8,000
02 LB HAHE L 8,000 8,000 0
Ol =€ M=l It XA
8,000,000& 14 8,000
03 PIZAHHEE 22X 70,000 62,000 8,000
OZ Al ZUH==l =]
70,000,000 *14! 70,000
ZOHQ! MEMSFXI A BHXIAH 151,405 128,972 22,433
Jl 61,376
= 1,920




2A:

=t

o YRS XY
&2l ZoHeHE sS4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 88,109
307 gl2tol & 161,406 128,972 22,433
Il 61,376
= 1,920
Al 88,109
02 2IZHBYAIHE X 151,405 128,972 22,433
OFOHQ! MEHSXITX BIXIAS (48)
151,405,000 151,405
Jl 61,376
= 1,920
Al 88,109
Z0Hel AEXAXOIZDH KIZAY 54,720 22,950 31,770
) 38,304
= 4,924
Al 11,492
301 EtE N = 54,720 22,950 31,770
Jl 38,304
[ 4,924
Al 11,492
01 A2 HSFS(RNEERTHE) 54,720 22,950 31,770
O AXXAHOISH K2 A
95,0002 ~48Z 121 & 54,720
Jl 38,304
< 4,924
Al 11,492
UaDHEl & SO 128,000 88,000 40,000
307 elztol & 128,000 88,000 40,000
02 2B YA E X 128,000 88,000 40,000
OZ Al ZOeIM=U=l W=
12,000,000 x12] 12,000
Odctd T dEH= oS! BHELEUS
BES 5,000,000& *12] 5,000
OXcta: XML MIASZUS I
10,000,000 *13] 10,000
ORIzl Mctee ISl &t
65,000,000& *12] 65,000
Odictdr sOtelM=al ot
5,000,000& *12] 5,000
OdletdE AIZIEHeIM=Uzl Jot
6,000,000& *12] 6,000
020238 detgs oSSl Fot
15,000,000 *12] 15,000
O3MAN(Z L, 0=, =8 )HEHS DR
10,000,000 *12] 10,000
H=AlE =25 12,833,720 14,384,687 1,550,967




A MY
M WAL &S
Cel: MEMSAIL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,650,000
Jl 240,000
= 185,000
Al 10,758,720
HdEMSAIE 8,858,720 9,614,687 AT755,967
= 1,290,000
7l 240,000
Al 7,328,720
ARz Zet0|YAE EXISAHEEAIY) 4,250,000 300,000 3,950,000
= 750,000
Al 3,500,000
401 AlEHIZ 201 4,250,000 300,000 3,950,000
= 750,000
Al 3,500,000
01 AlZH| 4,250,000 284,700 3,965,300
OAX= 2ct0le EXISA
4,250,000,000& 4,250,000
[ 750,000
Al 3,500,000
HEE SUEHT XS X SAHASAY) 1,800,000 800,000 1,000,000
s 540,000
Al 1,260,000
401 Al HIZ 2018 1,800,000 800,000 1,000,000
= 540,000
Al 1,260,000
01 AlZH| 1,800,000 773,000 1,027,000
OddEZ SH2dd NSEX SA
1,800,000,000& 1,800,000
[ 540,000
Al 1,260,000
ZFASH B ALXER2 =4 AY 2,002,000 0 2,002,000
401 Al HIZL 201 2,002,000 2,002,000
01 Al&H| 2,000,000 2,000,000
OZASH SHFAEXER2 24 AHY 2,000,000
— SRl (128, 4ZXI)
2,000,000,000& 2,000,000
03 AlZ = THHI 2,000 0 2,000
OAl& Yl 2,000,000& 2,000
HE2HS=AE B 800,000 550,000 250,000
Jl 240,000
Al 560,000
401 Al HIZL 01| 800,000 560,000 250,000
Jl 240,000




2A:

=t

M WAL &S
Cel: MEMSAIL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 560,000
01 AlZ2H| 797,000 550,000 247,000
OZ dUM=2 BISA
797,000,000 797,000
Jl 240,000
Al 557,000
03 Al 20HHI 3,000 0 3,000
OAIE20HbI 3,000,000& 3,000
HFAIE el =Xl 6.720 2,536 4,184
201 eer23| 5,720 1,536 4,184
01 AtR2t2|HI 5,720 1,536 4,184
OMSAIZE =Sl 8,000 *4004] 3,200
OASAEEDNE gt M
150,000& * 102 1,500
OBAZRBE TA 7 1,020
—S01EE PE2
20,0003 1204 &35 720
—243d 2 100,000& *3&*15 300
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
OMSAIE 24 XA S
1,000,000 14| 1,000
HEHSAIE 3,975,000 4,770,000 AT795,000
= 360,000
[ 185,000
Al 3,430,000
HE 23 MESHSAE ZHIA(EEAY) 1,200,000 600,000 600,000
= 360,000
Al 840,000
401 Al HIZL 201 1,200,000 600,000 600,000
= 360,000
Al 840,000
01 AlZH| 1,200,000 600,000 600,000
O&E Jel3d HEMSAIE Z83A
1,200,000,000& 1,200,000
[ 360,000
Al 840,000
HESHE S5 % AIZ2 SA 800,000 0 800,000
401 Al HIZL S 0HYI 800,000 800,000
01 Al&HI 797,000 797,000
OHEHNSHE S5 & NEEFSA
797,000,000 797,000
03 Al =2 THHI 3,000 0 3,000
OAlIE 2 0HbI 3,000,000& 3,000




M S
M HsSAME &5

Rl dENSAIE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SR A== gAY 1,000,000 0 1,000,000

401 Al HIZL 201 1,000,000 0 1,000,000
01 Al&HI 997,000 0 997,000
OSRd II3=8d 8 Alg
997,000,000 997,000
03 AIESTHYI 3,000 0 3,000
OAl4 S THHI 3,000,000& 3,000
MEHSAE B 775,000 320,000 455,000
< 185,000
Al 590,000
401 Al HIZL 201 775,000 310,000 465,000
= 185,000
Al 590,000
01 Al&HI 775,000 310,000 465,000
OZ2s Jet2E2RE &35 SA
150,000,000 *14] 150,000
OZ2S NHCIHAUANOIES 24 SA
150,000, 0003 * 14! 150,000
OZes REF(2EH) =2 FHl A
30,000,000 %14 30,000
OS0ts 2 (SEH) NSLS=3A
50,000,000& x14] 50,000
ORYS H2SH(ZTH) OlASTA ML
At 180,000,000 * 14! 180,000
OZ Al cIE07d alA X & RANEs
30,000,000& 30,000
Olts =23 HFAE HEAE 45,000
—0ts cIE07E 2= 30,000,000 30,000
=S 30,000
—=g 2t =8 AlZd
15,000,000 15,000
= 15,000
O0ts MSAIE W2+ A (0I2F)
30,000,000 30,000
= 30,000
OUts AOIE=EE AIE JHE At
30,000,000& 30,000
= 30,000
OS0tEs H=EAIE &l At
30,000,000& 30,000
= 30,000
OHQoIES et =18 AlZ Hd SA
50,000,000 50,000
= 50,000
SUIHMSAE &X 200,000 200,000 0
401 Al HIZL S 0HYI 200,000 200,000 0




M S
M HsSAME &5

Sl METHSAL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 200,000 200,000 0
OsUMSAZ (M7 8) 84X € 2
= (SHS 400HA) 200,000,000 * 14 200,000
HEAE 23 4,884,033 3,174,377 1,709,656
= 14,000
) 45,000
Al 4,825,033
HAHA A= 29 4,884,033 3,174,377 1,709,656
= 14,000
Jl 45,000
Al 4,825,033
HANCIHHE 57,668 31,568 26,100
201 er23| 9,623 10,523 2900
02 S3=gHl 9,623 10,523 A900
O3t LPGEEIIAAEAIE I AR
50,0002 %12 50
Or&es iz 7, 7008+ 122 B
ORIIGHBT HEDFE4E
80,0002 %12 80
Oogzm gl 2& 2 300,000 ~4CH 1,200
O=2=ots FHI(SHH S WHl)
60,0003 * 1074 2:%22] 1,200
OAZEd ASAEHIAIAE FA2el
1,000,000 14| 1,000
OFIIeHEBE B
300,000 * 12 3,600
OAagAlg2e HEES
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OABMSYSE WXl 15,000,000 & * 1A 15,000
OFd+AT F=H 2F |
8,000,000& 8,000
405 KR SHI 113,300 113,300
01 XML =EF S| 113,300 113,300
OdAIIR 73 8,200,000& * 14! 8,200
O=ZH| g€4=ED| 1,500,000 *1CH 1,500
OZAral JHeIAtEE e
200,000 *87H 1,600
OWMI| 72 500,000 *1CH 500
ONEDl 2 2,500,000 *1CH 2,500
OAXI| 72 2,500,000 *1CH 2,500
O== 4D ¢ 47,500,000 *2CH 95,000
OMA === gXJ| &
1,500,000 *1CH 1,500
HEsdd 23 1,412,614 935,926 476,688
101 2124l 899,974 109,254 790,720
MU IIRNZ2EXsSEs 899,974 109,254 790,720
O=g 25 333,7%
245 96,0003 +8H 227 174,336
—=F5= 96,000 *8H x52 39,936
-5 44,0002 *3% 109 47,083
—2E8= 30,299,350& 30,300
— Xt 96,0003 811 8,448
—&&3 3,000,000 +8H 24,000
—#EFY 250,000 8 2,000
— A RS 65,0003 *8H *23| 1,040
—2tAlH| 3,000 x8H %227 5,448
—=dLA =Y 100,000& *1H+12& 1,200
Ox=gds & HE(AIZHA) 82,292
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O+% A L 2H015H4Y) 171,873
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—AlIZtQl g
13, 750 @1 <2 A1 2+ 150%+32 x50 6,435
—5U2244 110,000 *3% *52 17,160
-282 14,730,9002 14,731
— iRt g 110,002 +3* 11 3,630
= E 3,761,260 x3% 11,284
—ZP=(HA) 65,0002 *3% *23| 390
201 YEr=2 Y| 444,700 258,024 186,676
01 Al 2:2IH 56,940 38,964 17,976
O3l 8,000+6 2+ * 1201 4,608
OFAIRRIB ARE 12,182
—ZE3&X 42,000+58 A% 1200 2,520
—HEErR 55,000+65¢ Ax 1200 & 3,960
—Z2H MY 2
1,300+60 =401 2 312
—SHERI(2LEI#) 5,000+20%5 100
—MYDIS 8,000%200H 160
—2HI% 40,000+ 1284 A 480
—2e, X2 8,500+200H 170
—gola =21017], eyl €
120,000%20H A+ 120H & 2,880
—S2018 MED 50,000%300H 1,500
— & 1,000+ 1000H 100
OZ22 Mz & oIy 3,000,000 3,000
Os=3a s 22 28,300
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2A:

=t

33 MEANE =29
=2 MAE A= 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O#=xXcl&dl |RXE= 3,000,000 3,000
OJIAHE8l KX 5,000,000 5,000
O&IIEH RXE+ 5,000,000 5,000
OAgHEHl |FXE 3,000,000 3,000
OZg28 10,000,000 10,000
ONM==x B4 2,500,000 2,500
oggsy 400,000% 123 4,800
O&Jeta e s
1,500,000+ 1204 & 18,000
OAgrorzzzl (g
330,000% 1290 & 3,960
Osgetdae| Hlss
300,000+ 1290 & 3,600
O2gd RAl2cl &4
200,000% 12202 2,400
OAIAEEHl 89 150,000+ 1200 1,800
Oodtg)l Fa & ol 4,000,000%23] 8,000
202 04dl 5,100 5,100
01 2L AL 5,100 5,100
OHTAIE A% 100,000+5 2 +3& 1,500
oot e Xt WE 100,000+7 2 +3 2,100
OZAMUADID] =BT w=E
100,000+5 2 «1H 500
O=g%d 2clge =8 1,000,000 1,000
206 MH=H| 29,840 14,988 14,852
01 M=4l 29,840 14,988 14,852
Ox&ac| 43 16,540
—O{ M 30,000%203L* 1204 7,200
—pH =2 50,000+ 12912 600
—STH 25,000x10S 40 & 1,000
—4= 20,000+25L 1204 6,000
—g=JI8 &S 30,000%4 2 x12J0 2 1,440
— &R =EF A 100,000%38¢ A 300
O &M LEYX 225
500,000+2Z*2CH 2,000
O )| 428 7Y 2,500,000 2,500
O=g Hss8 7 2,000,000 2,000
OANH A FEZ 2L 40,000%307H 1,200
OEdXl HH 50,000x20KI & 1,000
OAlg= dHls 3+ 4,000,000 4,000
O&JIZd 248 XM 150,000%40H 600
401 AIEHIZ SR 0HYI 33,000 300,000 A267,000
01 Al&HI 33,000 300,000 A267,000
Od=s FIEEa 4,000,000%23] 8,000
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=2 MAE A= 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBD, @ = Jagl 2+
8,000,000 8,000
O&IIEH ®X2L 8,000,000 8,000
O+=g& =¢ 3 &H| 4,500,000+23] 9,000
=S 29 WA SA 150,000 150,000
7l 45,000
Al 105,000
401 Al HIZL 01| 150,000 150,000
Jl 45,000
Al 105,000
01 A&l 150,000 150,000
OBUAHE HA BHZA
150,000,000 *14] 150,000
Jl 45,000
Al 105,000
H=Ad RX2clE &J|st=X 704 45,000 45,000
= 14,000
Al 31,000
405 AHaHE S 45,000 45,000
= 14,000
Al 31,000
01 ML ESFSHI 45,000 45,000
OMSAIE FA2cE d)l=t=xt i
45,000,0002 *1CH 45,000
= 14,000
Al 31,000
DIS=7E WM SA 201,400 201,400
401 AIEHIZ SR 0HYI 201,400 201,400
01 Al&HI 200,000 200,000
OltsE7E TS SA
200,000,000 200,000
03 A2 THYI 1,400 1,400
20| 200,000,000+0. 7% 1,400




